Unit VII Discussion Questions 

1. Nearly all residents of MDCs lead urban lifestyles even if they live in rural areas.  In contrast, many residents in LDCs lead rural lifestyles, even through they live in large cities.  They practice subsistence agriculture, raising animals or growing crops. Lacking electricity, they gather wood for fuel.  Lacking running water and sewers, they dig latrines.  Why do so many urban dwellers in LDCs lead rural lifestyles? 

2. Land-use activities in Communist cities were allocated by government rather than made by private market decisions.  To what extent would the absence of a private-sector urban land market affect the form and structure of socialist cities?

3. Officials of rapidly growing cities in LDCs discourage the building of houses that do not meet international standards for sanitation and construction methods.  Also discouraged are privately owned transportation services, because the vehicles generally lack decent tires, brakes, and other safety features.  Yet the residents prefer substandard housing to no housing, and they prefer unsafe transportation to no transportation.  What would be the advantages and problems for a city if health and safety standards for housing, transportation, and other services were relaxed?

4. What steps has your community taken to recycle solid waste and to conserve energy? 

a. Do you feel these steps have been enough?  Explain.

5. A recent study compared paper and polystyrene foam drinking cups.  Conventional wisdom is that foam cups are bad for the environment, because they are made from petroleum and do not degrade in landfills.  However, the manufacture of a paper cup consumes 36 times as much electricity and generates 580 times as much wastewater.  Further, as they degrade in landfills, paper cups release methane gas, a contributor to the greenhouse effect.  What types of cups should companies like McDonald’s be encouraged to use?  Explain your answer. 

a. Can you think of an alternative product – follow what you believe would be the supply chain from resource to product, to use by consumer, and finally – disposal.

6. Malthus argued 200 years ago that overpopulation was inevitable, because population increased geometrically while food supply increased arithmetically.  Was Malthus correct?  Why or why not.

7. Pollution is a byproduct of producing almost anything.  How can more developed countries, which historically have been responsible for generating the most pollution, encourage less developed countries to seek to minimize the adverse effects of pollution as they improve their levels of development?

8. Describe the multiplier effect as it relates to the population growth of urban units.

9. In what ways does the Canadian city differ from the pattern of its US counterpart?

10. What are primate cities? 

a. Why are primate cities so prevalent in the developing world? 

b. How are some governments attempting to reduce their relative importance in their national systems of cities?

11. What are the significant differences in the generalized pattern of land uses of North American, West European, East European, Asian, and African cities?

12. What effects has the increasing use of fossil fuels over the past 200 years had on the environment?

a. What is acid rain, and where is it a problem?

b. What factors affect the type and degree of air pollution found at a place?

c. What is the relationship of ozone to petrochemical smog?

13. Suggest ways in which your study of human geography has increased your understanding of the relationship between the environments of culture and those of nature.
